FEB — 21313/T11

Public Administration
Paper III

TRAITEA
gyAutsreRt 111

Time Allowed : 2% Hours] [Maximum Marks : 150

Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.

AT : A1 YeUIhd THY egel (75) Sgudel U9 fooiel ofed. 9dish U9 @M ()
0 . W Y gredl.

1. The newness of public administra- | 1. TRIIMEAIA AfGTION AR W d
tion is its emphasis on :

1) g3
(1) values

(2) i
(2) dynamics .

(3) faq g
(3) new structures
(4) new functions (4) e wH
Choose the correct code : RURICEIRIECEIE
(A) only (1) (A) ®F (1)
(B) (1) and (2) (B) (1) smfor (2)
(C) (2) and (3) (C) (2) 3mfur (3)
(D) (3) and (4) D) (3) a7 (4)

2. Who of the following made | 9  grefieiest Hf FwyeTER it @SR
distinction between public and

GMEd 9 ohell ?
private administration ?

(A) L. Urwick (A) T 3T
(B) Henry Fayol (B) &1 WAt
(C) M.P. Follet (C) TA.dl. Wiete
(D) Herbert Simon (D) Bl HEEA

[P.T.O.



Planning function in POSDCORB

means :

(A) Compilation of community

needs

(B) Co-ordination of community

needs

(C) Listing of priority community

needs

(D) Linking priority needs with

resource needs

Which of the following is the feature

of New Public Administration ?
(A) Promoting competition

(B) Converting Bureaucracy into

contractual working
(C) Bringing economy

(D) Social

effectiveness

efficiency and

Public choice is predominantly :
(A) Theory of Economics
(B) Theory of Psychology
(C) Theory of Political Science

(D) Theory of Sociology
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POSDCORB ettt 13 shrat=n 31¢d
AR

(A) THEH=A TR IR

(B) HHE=A TS HY
(C) Fgr=n Woafier = gl
(D) G TSN W TRe-Ss oy

TAATR YA Wt eAdeh! ShITd SIS

M ?
(A) Tl UreErgd <

(B) TIhWIET et ®hEid gadid

ETU
(C) HEHTL AT

(D) Fh T &THaT aqrfor

TROMHR R

AR A gl o1

(A) srefvmeEn fagid

(B) AHEeTETEn g

(C) T~aemE=n fagd

(D) FHSEEET fHgid




NPM believes in the efficacy of
................................ to solve the

(A) Market mechanism
(B) Political dynamics
(C) N.G.O. functioning
(D) Civil society organization

The effect of

government’ in practice is :

‘Re-inventing

(A) restructuring

(B) rightsizing

(C) reducing

(D) debureaucratizing

Consider the following features :

(1) Organization is a social system
and management is a social
process

(2) Conflict is good for organization

(3) Psychological and social aspects
of management

Which of the following were
suggested by M.P. Follet ?

(A) (1) and (2)

(B) Only (1)

(C) (1) and (3)

(D) (1), (2) and (3)

6.
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T Grefauardret
JUERTAdER Tocileh STaEdT  favamry

Jerd.
(A) ISR I50M

(B) USThid T
(C) TH. 3T HEhel™
(D) 9T Far geEel

ST gARIY A SRR g
AR

(A) TRIA &

(B) drg &R <O

(C) U 0

(D) AhMR GHE FHHT H0
Trefta dfyrsesr=n faar w3

(1) HeA Uk AR Fo%e 378
YT HILATIH Teh HHISSh Fihdl

R,
(2) FEARUA &E B FRTel! o6l 3R,
(3) SAATATYATA HEAGLMEATH  1f0
qHItSe Ue]
SeTdeh! It afdTseRl TH.H. Wieted
gafdeft aRd ?
(A) (1) sufor (2)
(B) & (1)
(C) (1) e (3)
(D) (1), (2) =mfow (3)

[P.T.O.



10.

11.

Delegation should not go with :
(A) Ability of the subordinate
(B) Demand of the subordinate
(C) Need of the situation

(D) Jurisdiction

The

formal organisation is

associated with :

(A) Human view

(B) Behavioural view

(C) Mechanistic view

(D) Social view

Which of the following is not a

feature of span of control ?

(A) Direction

(B) Control

(C) Co-ordination

(D) Supervision

10.

11.
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YIS ArA] Hieid STl ehl
(A) feTeer= e

(B) aferTee=ii wwTofl

(C) uffeerdr= wmTOit

(D) e

Aqeanfier Teea garemRt el o

(A) #Fet gfteen

(B) RRAR! gftesh

[aV o N

(C) ARt gfeaniv

(D) wHfSe gt

feso wem AR ETefiad®! HIoTd
R @ ?

(A) fide=

(B) T

(C) "H3

(D) TIA&I




12.

13.

14.

The problem of decision-making is

overcome by ........coceeevvririieneneennnnn. .
(A) the process of co-ordination
(B) the process of formalism

(C) the process of decentralization
(D) the process of delegation

Informal groups are not

characterised by :

(A) Unity

(B) Loyalty

(C) Accountability

(D) Instability

J.D. Mooney has placed ................. as

the ‘first principle’ of organization.

(A) Unity of command

(B) Hierarchy

(C) Delegation

(D) Co-ordination

12.

13.
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frofa gfsRdet Taen—ar gR X &
.

(A) GEar= GfhagR
(B) 3frv=nfiera=an gfswagR

~

(O T

(al o

Shaloh LU=l Y

IgR
(D) YSehIom=AT ishagR
SHUEe THg T—aM AfTiehd 2a

[P.T.O.



15.

16.

Which of the following is not a

feature of traditional organization ?

(A) Internal control of work

(B) External control of work

(C) Centralized decision-making

(D) Decentralization decision-

making

“One wheel (alone) does not turn and
keep the cart in motion.” Which is
the other wheel in Kautilya’s

Arthashastra ?

(A) Amatya

(B) Army (Danda)

(C) Kosh

(D) Rajpurohit

15.

16.
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EcATeTdeh] ST YRUTRER Heea< afyrse

A& ?

A) v it frd

(B) MR sed =

(C) whatepa ot wfswan

(D) fashsra faofa wfswan

‘e Tk (The) TRE Sohd ATRr STt

TETAT TAHH & ITehd 8L shifecamr=

FAIMSAT TR A HIUA R ?

(A) AT

(B) ¥ (TT)

(C) =I¥

(D) TTqIfed




17. Match List I with List IT and

select the correct code from the given

below :

(@)
(b)
(c)

(d)

(1)
(2)
3)

(4)

List T
Yukta
Samaharta
Tatpurusa
Adhyaksha
List II
Preparation of annual budget
Servant of the lowest level
Head of department

Incharge of Record-cum-Audit

office
Code

@ () (c) (d)
(A) 1 2 3 4
B) 2 1 3 4
) 3 1 2 4
D) 4 2 1 3
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17. G-I o gei-I1 3t sier &ffor @reflel
ERIRIEET NG D M R B

(@)

)

(c)

(d)

(1)
(2)
3)

(4)

T o1

I

e

T T

aiftieh 37 Hhed TIAR H0]

el WA RHER)

fasm g

AfYeRg d9= AH &0 HraTAI=n
PR R

T

(@) ®) © @
(A) 1 2 3 4
(B) 2 1 3 4
(C) 3 1 2 4
D) 4 2 1 3
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18.

19.

20.

The concept of Bounded Rationality

recognises the constraints on :
(A) Computational Ability
(B) Co-ordinating Skill

(C) Leadership Style

(D) Personal Relationships

“The concept of administrative and

economic man” is relevant in :
(A) Leadership

(B) Supervision

(C) Authority

(D) Decision making

Giving freedom in doing one’s work
and encouraging self direction and
self-development is the central

theme of philosophy of :
(A) Herbert Simon

(B) Abraham Maslow
(C) Douglas McGregor

(D) Rensis Likert

18.

19.

20.
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Tawta qrepichal B Hehaod T AT 3TS eIl

ARG Hd

(A) TTUMTHh  &Hd

(B) TH=EHE NI

(C) ¥ et

(D) Kt Haiel

“gemEeta emfur stfde WIS &
Hheq —IME o 3T,

(A) g

(B) wdaem

(C) Aty

(D) froa-ufsmen

WETETAT T shiH SHI0IMES TS <0
afor @-fademren sufor w3 fasmmen
HedTE <0 g A=A deaiM=] ST 3R,

(A) B HWHHA
(B) 3Teled &l
(C) ™ WhiTR
(D) 9 e




21.

22.

23.

‘Theory Y’ has positive assumption

because :

(1) Its emphasis on problem solving
(2) It is participative in nature
(3) Its emphasis on fault finding

(4) Tt is based on internal and self

control.
Select the correct code :

(A) Only (3)

(B) (1), (2) and (3)

(©) (1), (2), (3) and (4)

D) (1), (2) and (4)

Citizen’s Charter is a mode of :

(A) Accountability for Government

decisions
(B) Quality Approach
(C) Guarantee against arbitrariness
(D) Transparency
According to Follett the key to

constructive conflict is :
(A) Avoidance

(B) Compromise

(C) Domination

(D) Circular Behaviour

21.

22.

23.
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fag[a ‘am’ 48 UHRIcAs ¥R TR
3R, NI :

(1) SET R gHE diefauamer e

(2) 9 WEIH HEYNcAs 38
(3) W=l R T IMYTIER R

(4) q 3Tia smfor w-fAgsomer snenfa
3T8.

RICEERIRIECEINE

(A) ® (3)

(2) 7 (3)
(2), (3) @ (4)
(2) @ (4)

TREET 998 € 9 SR

B (1),
© (1),
O (1),

(A) IR ol STefac

(B) T[urel gfteehid

(C) wr=raiar aren fagg &

(D) UREfefan

RITSST Hd TaTcHe Gesi=n Ml 3178
(A) <MBILTs

(B) dssis

(C) =&

(D) aG@HR =i

[P.T.O.



24. Self-actualization needs did not

25.

26.

related to .......ccocveeriieenneen. .

(A) Self-fulfilment

(B) Demand satisfaction

(C) Realization of one’s potential
(D) Creativity

When one has his function along
with corresponding authority and

responsibility, Follett terms it as :
(A) Position

(B) Authority

(C) Functional unity

(D) Status

Who said that “Comparative

Administration is an intellectual
enterprise concerned with search for
theory and urge for practical

application ?”

(A) Weidner

(B) Riggs

(C) Ferrel Heady

(D) Montegomery
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24, STHNYTN TRSA—IRN TAfd THd—

25.

26.

(A) I
(B) |FTON GHIEM

(C) TEISATAl A=A &= STuite gror

(D) gSHrcHehd

STeg] TEeHTell e b ST&Y e

AT FArEeRIA Hdl, It wiae

=B :
(A) Teerdt

(B) 3Afegsn

(C) HEicHs Tehdl
(D) <si

“qOTHR IRITEA € U Siifgen Uishdl
3T STt fagiaren werEe! 7t e
STENTAeA TR e TR ¥ i
"/ ?

(A) faeTX

(B) fo=
(C) T Bl
(D) =t

10



27.

28.

29.

Which of the following pairs is not
correctly matched ?

(A) New Public Administration —

Dwight Waldo

(B) Development Administration—

Edward Weidner

(®) Public

Administration—F.W. Riggs

Comparative

(D) Administrative Development—

Robert Dahl

Which of the following in not a
feature of Classical theory ?

(A) Inefficiency
(B) Hierarchy
(C) Impersonality
(D) Specialization

The U.S. Civil Service Commission
was replaced by :

(1)
(2)

Office of Budget Management

Office of
Management

Personnel

3)
(4)
Choose the correct code :
(A) (1) and (2)
(B) (2) and (3)
(C) (1) and (4)
(D) (2) and (4)

Civil Service Department

Merit System Protection Board

27.

28.

29.
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Treliadehl SV Siel & A Jead
W 2

(A) 79 <k GRMET—CaEe dleel
(B) fow WEA—TEag fae=

(C) qorcAs: oieh YRITET— Th. S,
fos

(D) YeEhE fasha—ed @
EeiTerdeh! 1 AT fagrare aftse
& 2

(A) e

(B) weHIdMH

(C) FToafteRal

(D) foreieRTm

SR ST Tl 3TN AheA sgatel
s :

(1) AdHshed HIRAIH Hed

(2) HHAY HILATA HAT
(3) Gt Hen faum

(4) FF Tl HEU S
I ggg e

A (1) 3 (2)

(B) (2) F (3)

€ (1) a (4)

D) (2) F (4)

11

[P.T.O.



30.

31.

32.

The executive departments in U.S.

enjoy :

(A) Absolute power

(B) Highest formal status
(C) Uniformity

(D) Subordinate status

The office of ‘Parliamentary
Commissioner’ was set up on the

recommendation of :

(A) Priestley Report

(B) Fulton Report

(C) Whyatt Report

(D) Northcote-Treveleyn Report

The Chief Secretary of state does

not :

(A) Bring inter-departmentel co-

ordination

(B) Resolve internal differences

(C) Promote inter-agency co-

ordination

(D) Resolve inter-state disputes

30.

31.

32.
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~

A did R faar Sayrmad

(A) Tray =
(B) =3 3fu=nfier <=
(C) FH&EYAl

(D) swefies =i

‘TUS AgE’ A hrEiad Il
oaEd 9T o

(A) To=d efRa™

(B) WA Teamd

(C) a1 a1

(D) Sidee-Ifaciam e

TSI e 9fgd § & el
(A) STR-Tauria o= fafor

(B) iish HAHE L HO

(C) 3TR-ATHTT TH=F FSITd HLO

(D) ATR-T~g foare drefan
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33. Structural differentiation means :

(A)
the system

(B)

functions

(®);

perform specific functions

(D)

perform many functions

34.

indispensable in view of :
(A) Scientific challenges
(B) Technological Revolution

(C) Socio-economic challenges

(D) Human Resource Development

35.

concerned with :

(A) Socio-economic transformation

(B) Nation-building
(C) Infrastructural development

(D) Water supply in a city

There are different structures in

Structures perform different

Structures are designed to

Structures are designed to

Modernization of bureaucracy is

Development Administration is not

33.

34.

35.
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TS fadseo e

(A) TIEIHEY TS GLEAT 310

(al

(B) E&=A

~

cap i

CHERIG]

(C) fafsre S FHToIERE =T TR

HLO

(D) 3 HE HOIERE =T TR

HLO

AIHIIMETE AT TR IhLum=al FTTHR

AR 3 :

(A) SR 3T=M

(B) TRAMICH: Shidh

(C) HrmifSish-aTfeler e

(D) wrE wEe ok

T G — et T
s

(A) HHITSTR-2eh e

(B) g A

(C) urnyd gfagmn foem

(D) vRUd ol e IO
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36.

37.

38.

The concept of Development
Administration was conceptualized

and elaborated by :

(A) Western Scholars

(B) Asian Scholars

(C) European Scholars

(D) Latin American Scholars

Who was the Founder Chairman of
Public
Administration Group in USA ?

the Comparative

(A) Ferrel Heady
(B) F.W. Riggs
(C) Dwight Waldo
(D) Montgomery

Human development, equality, self-
reliance and participation are the

elements of :

(A) Learning-process approach
(B) People-centred approach
(C) Blue-print approach

(D) Production-centred approach

36.

37.

38.

FEB — 21313/III
amfor faeqd hefl—
(A) it s1varge
(B) Tfera stearEeh
(C) JI= T=HH
(D) <f¢F = g

Nes N A N

TRl JerrTcHeh Tiish Y9I FHeT=T

GEIqeh LAY R0 Bl ?
(A) ® BEl

(B) Th.gs]. o

(C) <drEe dreel

(D) "=

e forenTd, T, TeTaced S0 TeunT

T IO Ueh ARd —

(A) Tagu-ufsr gfewA

(B) SH-h3d giesH

(C) =gfue gfewr

(aV o N

I gfeeehid

(D) 3T

14
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39. Why is Prime Minister’s office | 39 dquym wmicmm i e 3R ?
important ?
(A) Legacy of Secretary to the (A) TEaR SR (FEITT) o Fiaara
Governor-General [Personal] ST
(B) Legacy of Secretary to Vice- L e -
I‘OY’S Council (B) W chllHcAAl HidHdHl dIdHI
(C) Includes senior civil servants in (C) TS afiss Te! Yaeh=T HEY
the organization ’ ’
(D) Includes secretaries to key D) o
department 40. SR GUR AN SEMfaRE faamms
40. The AR,C recommend.ed G eI FHCH HuArET fTHRY e,
amalgamation of executive
organization with the secretariat if W T RV FEI T
it was of : -
(@) gera: fowmgs aftreg
(@) Primarily Development
Character b) fawmmras sEwHU= A,
co-ordinating and review of
developmental programmes (c) SR gurEl 4o FHHdEE e
(c) If its frequent feedback is EIGRRE] U EvIE A N
essential for effective policy )
making (d) SR GAgeFrEl Al SFEA W
(d) If the Prime Minister’s so I wEar ﬁa-i,-_[ JoT
wished
Select the right code : (A) (a), (b) T (c)
(A) (), (b) and (c) B) ®), ) 9 (d)
(B) (b), (c) and (d) ©) (@, © 3 @
a), (c)d
(C) (@), (c) and (d)
(D) (a), (b) and (d) D) (a), (®) T (d)
15 [P.T.O.



41.

42.

43.

The Ministry of Railways has the

following relationship pattern :
(A) Integrated

(B) Link officer

(C) Co-ordinated

(D) Ex officio Secretariat Status

UPSC does not recruits the

following :

(A) Railways senior officers
(B) IAS officers

(C) IFS officers

(D) Civil Services (Main)

Which of the following feature is not

of the Directorate ?

(A) It is mainly concerned with the

implementation of policy

(B) It is generally headed by

specialist

(C) It is primarily staff agency

(D) It has indirect contacts with the

ministers

41.

42.

43.
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9 HAHEET Eielidileh] Teh Heem=
T STE.

(A) THIFA

(B) Helftd Afeeprl

(C) gHf-=d

(D) vefag Gfaare™ <<

T areh ar St fefatearet wdt
ETIRI |1

(A) Yoo aftss stfusrl

(B) 3M™.0.TH. 3ifeepd

(C) IATER.UY. Al

(D) FE = (YEA)

frefeferdarist A eHmeEr=h S
R A e ?

(A) 4 gead: «rum=an feareaAmed
RERICEC I

(B) Qrerura: foRioe amn Aeae) STl

(C) Tafgerdl @ TR ARTHT0T 318

(D) I HARN AYT] Hale 3R
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44. The debate on adjournment motion

ends with :

(A) Voting

(B) No voting

(C) Veto of the Prime Minister

(D) Veto of the Speaker

44.
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T JETEeIe ==

(A) HAH

(B) HASME T <RIl

(C) YdULMT=El TR

(D) FIAEl TRRIEHR

45, YIMEATER SHiadcitehs a5 § 91 YohRe
45. Executive control over the
AR :
administration is a type of :
(A) s =
(A) External control
(B) fatta fa=mr
(B) Internal control
(C) TmwmEr
(C) Bureaucratic control
(D) IR 7
(D) Legal control
. ) ) 46. ﬁ.q:“.rﬁ_q. H.HE:[ %. ................. W 3T|.H.|.ﬁ_d.
46. Departmental organisation is based
. ..
on :
(A) Purpose (A) %
(B) Process (B) wisham
(C) Function (C) =
(D) People (D)
17 [P.T.O.



47.

48.

49.

The shape of distribution in mode
is :

(A) Symmetrical

(B) Skewed

(C) Multimodel

(D) Inferential

Which of the following is described
by ‘micro-cabinet, supra-authority,
super-cabinet and the Government

of the Government’ ?

(A) Prime Minister

(B) Prime Minister’s office
(C) Chief Secretary

(D) Cabinet Secretary

Administrative Staff College of
Hyderabad was developed on the

pattern of :

(A) Henley-on-Thames (UK)

(B) P.H. Appleby Recommendation
(C) ARC of India (First)

(D) All India Council for Technical

Education

47.

48.

49.
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weFH (Mode) ATl foraRom=n TR
e -

(A) GHYHTI

(B) fe=fed

(C) igateHl

(D) eI

TTeieTieh! e ‘ YeH HAHSes, Ieam

AR, STAR HAHSs 3O I
A" Y U Sl Sd ?

(A) FHHE
(B) 9YMH hiEiad

(C) g&a df=d

(D) H3HSs 9faa

TEEIE J2Ael YIEh I CIh hlels Il

yeqer faefad sivad 3T

(A) T-33-979 (F.)

(B) W.u=.fqctelt 3Teare

(C) YA Uil YeIEehial YR ST
(D) sfEret 9RdE qifres e aitog
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50. Audit of Accounts of Central and

51.

52.

State Government is a part of :
(A) The State List

(B) The Union List

(C) Concurrent List

(D) Residuary Powers

Photo Identity cards for voters was
introduced by :

(A) G.V.G. Krishnamurti
(B) T.N. Sheshan

(C) M.S. Gill

(D) Naveen Chawla

Assertion (&) : Promotion has

wider implications than
advancement
Reason (R) : Advancement involves

an increase in pay.

Answer the following questions by

using the codes given below :
Codes

(A) Both (A) and (R) are true but
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) is not a correct explanation
of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

(®))
(D)

FEB — 21313/T11

50. g 3T T TRl dE 3Tehefu

51.

52.

Il 9E ST :
(A) T gl

(B) @9 g
(C) et gt

(D) SRR

HACNIEE! B leed 97 I §&

Al

A) S . S g
(B) fe. w. oA

(C) WH. . T

(D) HfoA =t

faamm @ ; SO YSdien A9

gfea 19 1R,

HRUT (R) : TR Fgi o Il Bd.-

@t feeten Gfearae sfad gatg faer

'Hﬁ'ﬂT :

(A) SR (A) =7fr (R) &R 2TRd 9
(R) & (A) 9 4rg TSI 3R

(B) Tl (A) &7for (R) sRIeR 37Rd T
(R) ¥ (A) = 99 TSRl TR

(C) (A) TR 38 Wg (R) I R
(D) (R) TR 38 WY (A) T R
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53.

54.

55.

Assertion (A) : Henry Fayol does
not make a distinction between

public and private administration.

(R): All undertakings
require POCCC.

Reason

Answer the following questions by

using the codes given below :

(A) Both (A) and (R) are true but

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but

(R) is not a correct explanation
of (A)

(©)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

Zero-base Budgeting lays emphasis

on :

(A) Economic Planning

(B) Programme Priorities

(C) Budgetary Decentralisation
(D) Equal Allocation

PPBS is a convenient tool for :
(A) Capital works

(B) Welfare works

(C) Traditional projects

(D) Inter-state projects

53.

54.

55.
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faam @ : & HIA AHIRTEE d

Qe YA 9 hid ATl

HRUT R : Td ITHHATHIST Uldh

(POCCC) 3&ash 3TR.

Wreftdl ehal 188 3fuaq == ferer

(A) <= (A) efor (R) forem sfisR e
(R) faum (A) faumm ara wrsdie
3Te.

(B) <=l (A) efor (R) forem sfisR eregd
(R) faum (A) faumm ara wrsdis
.

(C) (A) faum sQ=sR 3me 99 (R)
faam == o

(D) (R) faum sk M8 9o (A)
faam = o1

U AT HIM M qd ?
(A) Y e
(B) &AM Wefiendr

[aV

[eh (U]

~

(C) g foeh

(D) |HM 919

... TE. g Iedd Th G
YA oTE :

(A) wTsaett

(B) SRR hrd

(C) IRUIeh Uehed

(D) 3TR-TT Yahed

20



FEB — 21313/T11

56. The work for budget preparation and | 56, stefHered fAfHd nfor =T UGqUET ©
follow up is entrusted with the e e s s
Ministry of Finance, because :

_ _ _ (A) aRT emfefer Jan aren TR Sl
(A) It is assisted by Indian
Economic Services (B) ® =9 WA A& AR
(B) It is not a spending Ministry (C) & FFgremT IO I SR
(C) It is an implementin )
P 8 (D) fod gemE= SYH 3R
machinery
D) Finance is fuel for | 57 TETHT Ugdrl Teileius 3
Administration qE ?
57. Which of the following is the (A) do5al d=d
disadvantage of sampling method ?
(B) Tem=h s=m
(A) Savings of time
(C) aRurmar= eT=ehd
(B) Savings of money
(C) Accuracy of result (D) faferee ST S
(D) Need for specialised knowledge | 58. Tane faftte we=n fohar Tern foa

58. A systematic study of a particular RkHELE FEEd 31T ATGAR hedl
community or a group or an S e
institution is made by :

(A) =T A Ugdl
(A) Case study method
B) HE&0 ggdt
(B) Survey method ) Al
(C) Field study method (C) &= =P Tl
(D) Experimental method (D) YANTHE TGl
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59.

60.

61.

Formal Interviews are :

(A) Uncontrolled

(B) Intensive

(C) Unstructured

(D) Complicated

The first Municipal Corporation was

set up in :

(A) Calcutta

(B) Madras

(C) Lucknow

(D) Bombay

The credit for creating the office of

District Collector goes to :

(A) Robert Clive

(B) Warren Hastings

(C) Lord Elphinston

(D) Lord Mayo

59.

60.

61.
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(A) FFERE
(B) @&
(C) STH=AHR
(D) <ifes

"

qfgcal HeMTaTfeieh<

et ?

TATIHT S H0ATT

(A) FHeAdha
(B) ws™
(C) e
(D) Sifet

o S

TRl eehT=aT=aT ShIaTTaT=al T 9

IJET A

(A) T AR

(B) A ¥

(C) wrE TAfpEed
(D) =g w3
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62.

63.

In Disinvestment ‘Strategic Sale’

means :

(A) Sale at fixed price

(B) Transfer of management control

(C) Lease out management control

(D) Sale of units

Which of the following organisation

is not headed by the District

Collector ?

(A) Revenue Administration

(B) Jail Administration

(C) Development Administration

(D) Treasury Administration

62.

63.
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s}

ENGELEICTU NI e C R CER M B

BN :

o lr\

(A) Tafy=a fradien famt

(B) SHeRIT9q fAIs0me TR

(C) o= e vregH <0

(D) gHew=h fomt

e aTdah! HI1od Heed g feiesr-

fererraremn sremerd Wrell 9 A ?

(A) TEHS T

(B) q®T TRIEA

(C) foashrd wemeA

(D) TSRS GIEA
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64.

65.

In the wake of 73rd and 74th
Constitutional Amendment Acts the
development role of Collector has

become :

(A) More powerful

(B) Accountable without power

(C) Ceremonial

(D) Motivational

The Collector’s role in Development
Administration envisages his role

as :

(A) Adviser

(B) Observer

(C) Leader

(D) Co-ordinator only

64.

65.
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738 & 74° HEAT SEK hHEAGATHS

fSeeifasm=ar=i fawmaras ofusT

(A) TR

(B) AfyprIfyEm Iarerad

(C) wna=

(D) IR

forenT™ JRIEATdIe fSTeRTTeehT=aT=il S{{HehT

(A) "ol

(B) s

(C)

(D) Sad GHSIIHS
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66. Match List I with List II and

choose the correct code given below :
list T

(@) Santhanam Committee

(b) R.R. Diwakar Committee

(¢c) L.M. Singhvi Committee

(d) Sarkariya Commission
List II

(1) Report on Gram Sabha

(zi) Report on  Union-State

Relations

(zii) Report on Panchayati Raj

Election

(iv) Rural-Urban

Report on

Relations

(v) Report on Rejuvenation of

Panchayati Raj
Code

(@ () (c) (d)
A @& G (iv)
B) Gi) @ @ @)
© @ G 6@ G
D) G) G @ G

(€22)

FEB — 21313/T11

66. gt I 3ft gt 11 Seoan STfO1 Wretierdent

A @ fEer

T o1
(@) GIFH Gt
(b) HARAN. feemeht HiFd
(¢) Ta.TH. foeet wfed
(d) HEHRET S

T T

() THEY et Tgara

(i) He-Tg T 3Tedrd

RIS I ECEY cactlic e

(fv) TTHU-3E TR ST&ard

(v) TAIAS JAESSiad  3TgaTd
T

(@) b) (c) (d)
A) @) (i) @) ()
(B) (i) @ ) (i1)
(C) ) (iii) @ @

(D) @) (€22) ) @v)
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67.

68.

69.

The main difficulty in district

planning in Panchayati Raj is :
(A) Inadequate own resources

(B) Inadequate data base

(C) Weak technical input

(D) Little control over planning cell.

Dr. Durgabai Deshmukh Award for

development is given to :
(A) A women
(B) Voluntary organisation

(C) Dept. of Women and Child

Development

(D) Ministry of Health and Family
Welfare

In the State Social Welfare Board,

each district is represented
through :

(A) Senior Government official
(B) MLA

(C) Voluntary social worker

(D) Collector

67.

68.

69.
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et TsmEe fSegt FHasErda € g

ASTU AR :
(A) I @-FarEA

(B) 3Tqd wrfedt

(C) SH&Rad il STH

(D) fHasA Semer 3w I

foepTameRdar f. e SIgE JTEhR

I feam ST

(A) Hfgaren

(B) WIdel el

(C) #Hfgam 9 ScAshedrol faymT

(D) WEeH 9 YEaR&IN e

TS TN Hedl HSaad

g g fSiegaren gfafafiea faa sma.

(A) T3 IS SR

(B) 3THSR

(C) Wfesw wMIfSh Hiehdl

(D) fScefasRt
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70. Match List I with List II and

select the correct code given

below :

(@)

)

(c)

(d)

(1)

(2)

(3)

(4)

IList T
Samaj Kalyan Chetna Parv
Vikas Parv
Women Empowerment Parv
Pehchan Parv

List II
Voluntary organisation
Public opinion
Social change

Women health

Code

@ (®) (c) (d)

A 2 O3 (4) (1)

B) B) (@) (1) (4)

© @ (@ 3) (4)

M O (@ (4) (3)
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70. g I W g 11 S[esen smfur et
fecteon wataent dva wata faer

T o1

(@) THNSI HIO =dT gd

b) fawm 4d

(c) WiEe IR0 T

(d) 9g9H U9

T T

(1) @Idel gee

(2) wRId

(3) gmifSIeR gferdq

(4) wfgell e
i

(@) ®)
(A) (2) 3)
B) 3) (2)
) (2)
D) (1) (2)

(c)

(4)

(1)

(3)

(4)

(d)

(1)

(4)

(4)

(3)
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71.

72.

Which form of public enterprise is
commented upon as ‘a child of state
which grows into maturity as soon

as it is born.’
(A) Department
(B) Company
(C) Corporation
(D) Commission

The main objective of conferring

Maharatna, Navratna and
Miniratna status to Central Public

Sector Enterprises is :

(A) To provide them greater

autonomy

(B) To provide them more financial

resources

(C) To provide them managerial

assistance

(D) To provide them administrative

assistance

71.

72.
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ATeh SEHTAT ShIUl YRSl 319 e

3T 1 ‘=TT ST DI HeA 3L, i

S S 9 9igeE 2
(A) faym

(B) Hgedl (whut)

(C) frm

(D) A

o} S

held Tih ICIHAN HERA, Tk 30

o n

R S5l 9SM vl & 3. ¥

AqE

(A) T 2AfYeh Wl e o

(B) T tfues eAfues fafaa =4

Uy HL0

(C) T HEATTh T el Y hol

(D) T YIMHH T FE=Hal Y ho]
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73.

74.

75.

The objective of MGNREGA is to

enhance :

(A) Livelihood security
(B) Educational level
(C) Housing facilities
(D) Health facilities

A shift to market economy from
planned economy was aimed at

by :

(A) Third Five Year Plan
(B) Fifth Five Year Plan
(C) Eighth Five Year Plan
(D) Tenth Five Year Plan

The main focus of which plan was

on ‘Inclusive Growth’ ?

(A) Xth Five Year Plan
(B) XIth Five Year Plan
(C) IInd Five Year Plan

(D) Vth Five Year Plan.

73.

74.

75.
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TN 3e%d § JGITd h0l 3.
(A) SaTargar=i e

(B) arforer =i

(C) 3Treme gfaen

(D) TIEg gfaen

fraista sefogaedswgd 9N

STHTEHS ISl 3Ge¥d I BN

(A) E0 geETtieR IS

(B) Ur=rell U=EiSieh SISl
(C) 3Teal g=aftier AT
(D) <T@t g=ertie ISl

HITET A= g&g U@ gaiio
foreRrereR’ Bl ?

oc o

(A) TEET TEarSe Al
(B) ThYEl g=ateh Arel
(C) THU g=@ftieh s
(D) Tl Yeerseh ISl
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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 75 objective type questions. Each question

will carry two marks. All questions of Paper-III will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.
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Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.

=

10.
11.
12.

formeataTd! HevaTeT Yo

TR ST STEH STk A1 s3adiel S= ShiT=rd fara.

T YR 75 SgUAE YT STR. Y YA g 07

. 1 JETIfahdiel 9 U Hrefan s1famd o1, 9ee= ooa

ERBEERIE R EE cr Bl e

TRl Y& FAeareR forneten yeafsent faeft Sed. geamd= 5

oo ST TET TEAfAeR! ST @eiiet e ST T

R

() TSI SHSTATEIE! TeUlhar Aae Hid SHe.
e THeie foran Hiat Saeciel JeTafieh! Rehe T4.

Gi)  OfEeaT YsaTeR THE ShedTHHTIT Uyufsrehel UehUT Uss
S I ITECIEH /hHT WY STHCTEH /Aol Sehten
THU T feha 3a¥ J2T STHeTeH WIS Wy=Tufsreht
goardren 5 faferde udaerehen wa 3T gat
YYTURIRT ANTEA SaTal, WAy WgTdirenl sgeft
eS0T AT el Sesdt Teal eIt =Tl ATl huan

Gi) FAAYEY e TSAI@T Uleedmaid YA At
7). TH. 3. ITAfSTeh=n R fergre.

A TR (A), (B), (C) 3T (D) 7eh =R forehed s feeht

ST, TS A I ThMAT Tt SRTIATIA Sesehqul

hTeal/ Feal L.

T : T(C) T AT T 3THA T

ST
Sireeied 1 qHERE hed i H.

R ST 3. TH. ST, T TG hered fah1on SAfaiies SaX Hica!
Shelel STEagT ST STea STH Ao oo fohall 3
FeIee shoary faaneafen wWiay s tfovar 5.
TR YR feneaiy ges o7l uh. 3TR. Sl qHaeishichs
TR S0 ST 3T, AT, FRTAR! & 31T, ST, STAtehelt
Tefta v sTIeameRieR Jvars faeneaf wari o1

ieh {1 feRa SRl SiTel Uil STu ShaT,
TS feRdl AT Saer AT UATH TIErTt e,
FEhTSAT SALHTS! 0T SHUTA Shetl SO ATa,




